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 2007        BY R.KAPOOR. 
1. All Questions are compulsory.

2. The question paper consists of 25 questions divided into three sections; A, B, and C. Section A contains 7 questions of 2 marks each, section B is of 11 questions of 3 marks each and section C is of 6 questions of 5 marks each.

3. Internal choices have been provided in some questions. You have to attempt only one of the choices in such questions.

4. Write the serial number of the question before attempting it.

5. In question on construction the drawing should be neat and exactly as per the given measurements.

6. Use of calculator is not permitted. However you may ask for mathematical table.

.

Question Paper                     Maximum Marks 80             Time.3 Hrs

                                           (Section A) 
1. Find the value of p and q so that the polynomials F(x) and G(x) have (x-3)(x-4) as their H.C.F.          F(x) =(x2 -4x +3)(x2 +5x + p)    G(x) = (x2 – 5x +4)(2x2 – 3x +q)
2. A man gets Rs. 6 per day if he works but he is fined by Rs. 2 if he is absent. If in the whole month of April, he received Rs 100 only how many days, he worked.
3. Bharati’s annual income (excluding H.R.A.) is Rs.172306. She contributes Rs.1200 per month in her provident fund and pays Rs. 8411 as premium for an insurance policy twice a year. She buys NSCs worth Rs.13, 000. If her employer deducted Rs. 500 per month at source, what refund will she get from the Income Tax Department?
4. Reduce to the lowest terms:      ( x3 + 3x2 – 4x) / (7x3 – 18x2 +6x +5 )
5. Kiran borrows a sum of money on compound interest 10% p.a. compounded annually. She returns the money in two equal annual instalments of Rs. 1815 each. Find the sum borrowed by Kiran.
6. A says to B, “Iam now thrice as old as you were when I was your age and if you and I both live till you are 5/6ths of my present age, I shall be 84”. Find their present ages.
7. The sum of first four terms of an A.P. is 16 and the sum of their squares is 84. Find the terms.
SECTION B

8. If xsin3 ( +y cos3 ( = sin( cos( and xsin( = ycos(, prove that x2+y2 =1
9. 
[image: image1]In the figure, if (ABC is an equilateral ( of side 6cm find the difference of the area of the cirumcircle and incircle of the triangle.
10. If the roots of equation a(b–c)x2+b(c–a)x+(a–b)=0 are equal, show that 2/b=1/a+1/c
11. Water flows out through a circular pipe whose internal diameter is 2 cm at the rate of 7 meters per second into a cylindrical tank the radius of whose base is 40 cm. By how much will the level of water rise in half an hour?
12. Construct a (ABC in which AB =5.6cm, (B = 70o and altitude CD = 3.2cm. Construct a (AQR similar to (ABC such that each side of (AQR is 1.5 times that of the corresponding side of the (ABC
           BY:R.KAPOOR                 
13. Determine graphically the coordinates of the vertices of a (, the equations of whose sides are:                 y –x = 0, y = 2x and x + y = 6
14. If the points (x,y) be equidistant from the points (a + b, b-a) and (a-b, a+b). Prove that bx = ay.
15. Eliminate ( from the following:             a sec( + btan( + c =0
 psec( + qtan( + r = 0
16. The ratios of the areas of two similar triangles are equal to the ratio of the squares on any two corresponding sides—prove it. Use it to solve the following: “In a (ABC, D and E are points on AB and AC respectively such that DE// BC. If AB = 3AD and the area of (ABC is 72 cm2.find the area of the quadrilateral DBCE
17. Find the probability of getting more than 10 in a single throw of 2 dice.
18. A man has a certain number of oranges. He divides them into two lots A & B. He sells the first lot @ Rs. 2 for 3 oranges and the second lot @ Re 1 per orange and gets a total of Rs 400. If he had sold the first lot @ Re 1 per orange and the second lot @ Rs. 4 for 5 oranges, his total collection would have been Rs 460. Find the total number of oranges he had.
19. 
[image: image2]ABCD is a parallelogram and AB//PQ .Prove that MR//BC.
SECTION C

20 point A is 45o. After going up a distance of 600 meters towards the top of the cliff at an inclination of 30o, it is found that the angle of elevation is 60o. Find the height of the cliff.
21. ABCD is a quadrilateral in which L and M are the middle points of the diagonals AC and BD respectively. Prove that AB2 + BC2 +  CD2 + DA2 = AC2 + BD2 + 4LM2 
22. 
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23. A house-holder used to spend Rs.600 per month on the purchase of the wheat at the prevailing price. When the price rose by 50 paisa per kg, he found that, for the same amount he could purchase 5 kg less. Find the new price of the wheat. 
24. An inverted conical vessel of radius 6cm and height 8cm is completely filled with water. A sphere is lowered into the water and its size is such that when it touches the sides it is just immersed. What fraction of water over flows.
25. Suraj’s salary is Rs 26,000 per month. He contributes Rs 54,000 towards GPF and PPF during the year. He also purchases NSC’s worth Rs 16,000. He donates Rs 8,000 to a charitable trust, thus earning a deduction of 50% on the donation. Calculate income tax to be paid by him.
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